In this section, an incomplete figure is given, in which
some part is missing. We have to choose the segment,
given in choices, that exactly fits into the blank portion
of figure so that the main figure is completed.
Note: If you observe carefully, you notice that the
missing portion may be the mirror image of any one of
the quarters.
1
Select from alternatives the figure (X) that
exactly fits in the main figure to complete its
original pattern.

Sol.
(b) In this question, half shaded leaf is moved
clockwise. So, option (b) is right one.

EVIEE 2.

Select from alternatives the figure (X) that
exactly fits in the main figure to complete its
original pattern.
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Sol.
(c) Here if you see carefully, you observe that
the missing Portion will be the mirror image of
quarter | or Ill. Hence, Option (c) completes
the given figure.

EXAMPLEX}

Select from alternatives the figure (X) that
exactly fits in the main figure to complete its
original pattern.
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Sol.
(d) Here, missing portion will be the mirror
image of quarter 1.
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EXAMPLE?S
Select from alternatives the figure (X) that
exactly fits in the main figure to complete its

original pattern.
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Sol.
(d) Only option (d) is right one. (It is the
mirror image of each quarter).

EXAMPLESS
Select from alternatives the figure (X) that
exactly fits the main figure to complete its
original pattern.
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